First Set of Quizzes

Bidding: West North East South
1S 2C 2S 3C
+KQ875 ?
YKJ6 N ?
WKQ4 W E £
&93 S
Bidding: West North East South
1H 1S 2H 28
4875 ?
YKQ965 N )
AK54 W E ?-
&9 S
Bidding: West North East South
&AK8742 1H
yi82 N 1S 2H 25 3H
2 W E ?
#K73 S )
?-
&7 Bidding: North East South West
vAQJ943 1H 1S 2H ?
¢)62 ?-
#A0Q5
®KT543 #AQ982
T N w372
¢AT743 W E +KQ3
#04 s L I
86
WK65S
498
#KT8632

Actually 6 questions follow (ignore numbering on last 3!)

1. If the bidding
went INT p 2NT
(invitational) what
bid would you make
on this hand?

2. If the bidding
went INT p 2NT
(invitational) what
bid would you make
on this hand?

3. Partner opens 1NT.
What do you respond
with the following
hand?

aAT72
vQJ96
+AE
aK]3

aATOS
vKQ|7
+A8

&0 T9

5. Partner opens 1v,

and the next hand

passes. What is your

response with this
hand?

Question 1 - Which of the following is the best h
Choose One

1. @ QJ32 9743 # Ko & K2

2. @ AK109 W 41008 & 32 & 1008

3. @ A%6E2 W 0432 € 0 K32

Question 2 - Which hand is best? You are the op

Choose One:
#753 a4 1. ®Q10 ¥ 5732 ® AQs K43
v|B84 vQ1B63 2. ® A5 W KQ432 € Q)2 1032
sH6 +Q15 3. @32 WKQieT ¢ AQ10 932
2A]T92

& 52




First Set of Quizzes: Answers

Bidding: West North East South
1S 2C 2S 3C
KQ875 ?
YKJ6 N . . .
*KQ4& W E ?-Pass. You don't have the points for game & expect our side to have 8
293 S trumps & good chance neither side can make 9 tricks
Bidding: West North East South
4875 :H 1S 2H 28
¥YKQ965 N )
¢AK54 W E ?-Bid 3H. Expect N/S to make 2S. True, we might go down in 3H but
&9 S will score better than them making 2S
COMPETING to 3 in your suit is a competitive move, NOT A GAME TRY
(invite). For a game try bid a new suit.
Bidding: West North East South
&AK8742 1H
V182 N 1S 2H 25 3H
2 W E ?
#K73 S . i .
?-Bid 3S. E/W have 9 trumps so good chance can make 9 tricks
&7 Bidding: North East South West
e H 18 2H 7
#AQ5 ? - Did you think about vulnerability? Actually shape is good enough
to bid 4S. If opponent’s bid to 5 level it best to defend
#KT543 20982
LAl N w372
*AT743 w E +KQ3
#0904 S L IR
86
PK65
498
K T8632
1. If the bidding 2. If the bidding 3. Partner opens 1NT. 3 Partneropenslv, | 1. @ QJ32 W 9743 @ KQ K2

went INT p 2NT
(invitational) what
bid would you make
on this hand?

went INT p 2NT
(invitational) what
bid would you make
on this hand?

What do you respond
with the following
hand?

aAT2
Y96
+AB
AaK|3

aATOS
vKQ|7
+A8
&0T9

753
Y84
+Kb
&A[TO2

and the next hand
passes. What is your
response with this
hand?

Pass - You have 3
minimum (15
points) and nothing
special about the
hand.

3NT. You hold 16
hcp, 4432 shape,
but you have 10's
and 9's and your
heart suit has
promotable honours
in it.

3NT. SHCP + length
point for 5th club
making 10 total points.
5 card suits improve
hands in NT too + &T &
&3 help. You're so
disappointed to play in
2NT making 3 tricks.

a d
vQ1863
«0Q15

& 52

4v. Preemptive raise,
showing a fit (five
trumps) and a weak
hand. This hand has
ning pDIF:'.'_’-_ SIX 1IN '1Ig|'|
cards and three for
the spade singleton

2. @ AK109 W A1098 @ 32 & 1098
3. @ a%62 W43 € Q) K32

2 is the best. Values in long
suits, As & Ks, 3 guaranteed
tricks

1. @ Q10 W 3732 & A0s o K43
2 @ a5 $WKO432 € QJ2 B 1032
3. d 32 $KaieT ¢ aQi0 o932

Hand 3 is the best. All the
values in 2 suits, great heart
suit with the J now being vert
valuable

Hand 1: SQx is poor as is only
J high in the long suit

Hand 2: DQJ2 is a poor holding




Second Set of Quizzes

Opener Partner RHO You

1H 1S Pass ?? Whatdo you bid with the following hands?
Axx Axx QxxxX Axxx Axxx
XX XX X XX X
Axxx AQxx AxxxXx AQxx XXX
KxxX KQxx XX Kxx XXXXX
LHO opens 14. Partner overcalls 2¥ & the next player passes. What do you bid?
3 465 83 482
¥Q8765 ¥QJ5 vKJ2 vK963
+A982 +AK65 +Q843 +4K9872
#876 #»K542 &A875 &104
What does East bid?
aT86 QJ9862 a7 4 48763 Q8743
YKJ63 v62 YAJ73 v95 v95
¢KQTS8 ¢A92 +T62 4842 *J7
&5 2 &5 2 &KT75 &A K62 &A 862
West North East West North East | West North East | West North East West North East
1& 1 ? 1& 1e ? 1a 2¢ ? 1¢ v ? 1e¢ v ?
What does East bid?
saAKQxx aAQXxXx aT987 ax
¥X X vQJxx YAQXxX YKT98
*0xxX XX ¢AXXX ¢AKxx
X X SX X X X SA XXX
West North East South | West North East South | West North East South | West North East South
1v 26 7? 16 1¢ 7 16 1a 7? 16 1s 7?7
Quiz- What does ? bid next?
o aA XX AX X X 4QJ954 4QJ63
YKJxx YAQJx ¥X X YA 2 YAT82
*Kxx X *KJxx 492 Q4
SAQXXXX &#KQJT9 S#AQxX &#KQ52 &J62
W N E S(W N E S|W N E S|W N E S West North East South
14 24 X P (1% 24 X P 1v 1s ? 1s 2¢ 1¢ 1v ?
? ? X P ?




Second Set of Quizzes: Answers

Opener Partner RHO You

1H 1S Pass ?? What do you bid with following hands?
A XX AXX QxXXXxX AXXX AXXX
X X X X e X X e
A XXX AQxx AXXXX AQxx XXX
Kxxx K Qx x X X K x x XXXXX
Bid 2H = Cue Raise. [Bid 2H = Cue Raise|Bid 4S (weak & shapely). |Bid 2H = Cue Raise. If partner rebids 2S,  |Bid 3S = weak
If partner rebids  |If partner rebids |Big difference between the |consider raising to 3S (but not 4S) —they |hand with 4+
2S, you Pass, & play|2S, you plan to bid i mediate 45 bid & 4Sbid [can Pass with a sub-minimal overcall, or |card support
in 25 instead of 35 |game anyway after Cue Raise. bid game with 12+HCP

LHO opens 14. Partner overcalls 2¥ & the next player passes. What do you bid?

43 465 483 482

vQ8765 vQJ5 YKJ2 vK963

$A982 ¢AK65 +Q843 +K9872

%876 SK542 &A875 ®104

a) 4v - all about the |b) 24. Cue Raise, 10+ HCP. We have the values tobid |[c) 24. Cue Raise, |d) 3¥. This is weak, not

fit & maybe shape - |game opposite a 2 vl overcall, regardless of trump [invitational invitational, so partner

not pts length, so will bid 4¥ next. shouldn't get carried away.
What does East bid?

4T 8 6 2QJ9862 a7 4 48763 24Q8743

YKJ63 v6 2 YA J73 v9 5 v95

¢KQTS8 ¢A 92 *T 6 2 48 4 2 *J 7

&5 2 &5 2 &K T75 SA K6 2 ®A 862

West North East West North East West North East West North East West North East

e 14 7 e 14 7 14 26 7 1¢ 1v ? 1¢ v ?

X -have support for unbid Pass - a X would be for [Double - have #s & ¥s [X - would have bid 1S if |14 - with 5 spades bid 1
suits, & 9pts. No fit for # no [takeout & you'd like to |& 8+ pts no ¥ bid. If no fit in spade. Negative double
stopper for NT, not enough |defend North's & spades happy if only shows 4 spades
pts for 2¢/ v contract. partner bids 2C

What does East bid?

AAKQXxX aA QX X leT987 ax

VX X vQJxx YAQxX YKT98

*QxxXX X X A XXX ¢AKxXx

SX X SX X X X SA XXX

West North East South West North East South West North East South West North East South

1v 2& 7?7 1 1¢ 7 1e 16 ? 1 1s ?

Bid 2S: have 5+ spades, Double: showing both ouble: then raise partner if bids ¢|Double: Have ¢& ¥. Double &
forcing (10+ HCP) majors. Er ¥ but Pass if bids 3# plan to bid again as strong
Quiz- What does ? bid next?

£ 4A X X AX X X 4QJ954 «QJ63

YKJxx YAQJx XX VA 2 YAT82

K x X *X ¢KJIxx 492 4Q 4

SAQXXXX S#KQJT9 S#AQxXX &K Q52 *J 6 2

W N E S W N E S (W N E S (W N E S West North East South

1 24 X P 1 24 X P 1v 1s 7 14 2¢ X P 1¢ 1v ?

? ? ?

Answer: 3/4¥, |Answer: 4¥ - Answer: X to 3& - East’s -ve X has suggested X. No support for either & or ¢, but we
support have pts for show both support for ¥ & &. Tell partner can still X. If partner bids 2%, we are
partner’s vs game minors you'd rather play in &s willing to bid 2NT.




